

Convertir Fahrenheit a Celsius (B)

Estime o convierta las temperaturas.

$-80^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-93^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-11^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$68^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$97^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-23^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$36^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$42^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-92^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$79^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-16^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$48^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$94^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$24^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$6^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$13^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-53^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$30^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$6^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$35^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-62^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$40^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$49^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-19^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$36^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$24^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-72^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-85^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$85^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-9^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$